f=4, X=4008.7

Residual . Shift measure
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Y=245 (dx=-3.8e-01, do=2.0e-01)

f=4, X=4008.7

Y=491 (dx=-3.1e-01, do=-4.9e-02)

pfsArm pfsArm
= (x=4014.39, 0=1.29) | = (x=4011.50, 0=1.55)
calExp 1 calExp
= (x=4014.01, 0=1.49) = (x=4011.19, 0=1.50)
s Residual*s m— Residual*s
- Trace - = Trace
-
m =
e — - =
] 1

Y=1228 (dx=-1.3e-01, do=3.3e-02)

Y=1473 (dx=-6.2e-02, do=-2.9e-02)

fsArm
1 === (x=4007.05, 0=1.18)

calExp
= (x=4006.93, 0=1.22)
e Residual*5
w1 Trace

pfsArm

I = (x=4006.17, 0=1.18)
calExp

= (x=4006.11, 0=1.15)

e Residual*5

- Trace

Y=2210 (dx=-1.7e-02, do=2.3e-02)

Y=2456 (dx=-9.7e-03, do=6.5e-02)

I pfsArm I pfsArm
1 === (x=4005.07, 0=1.16) 1 == (x=4005.18, 0=1.17)
calExp 1 calExj

= (x=4005.05, 0=1.18)
e Residual*5

P
= (x=4005.17, 0=1.23)
e Residual*5
= Trace

Y=3193 (dx=-8.9e-02, do=2.3e-02)

Y=3439 (dx=-1.6e-01, do=6.0e-03)

pfsArm
| ™ (x=4007.40, 0=1.18)

calExp
= (x=4007.31, 0=1.21)
= Residual*5
= Trace

i pfsArm
| ™ (x=4008.80, 0=1.36)

calExp
= (x=4008.64, 0=1.36)
= Residual*5
- Trace

4000 4010 4020

4000 4010 4020

Y=736 (dx=-1.5e-01, do=-1.9e-01)

pfsArm
| ™ (x=4009.61, 0=1.39)

calExp
= (x=4009.46, 0=121)
m— Residual*s
== Trace

Y=1719 (dx=-7.0e-02, do=2.8e-02)

fsArm

| ™ (x=400550,0=122)
calExp

= (x=4005.43, 0=1.25)

= Residual*5

= Trace

Y=2702 (dx=-4.7e-02, do=-8.8e-03)

pfsArm

| ™ (x=4005.51, 0=122)
1 calExp
—(x=4005.47, 0=121)

e Residual*s

Y=3684 (dx=-8.9e-02, do=-1.8e-02)

pfsArm
7 | ™ x=4010.81, 0=133)
| calExp
= (x=4010.72, 0=1.32)
= Residual*5
- Trace
- — -

4000 4010 4020

Y=982 (dx=-2.1e-01, do=6.9e-02)

pfsArm
= (x=4008.21, 0=1.21)
calExp
= (x=4008.00, 0=1.27)
e Residual*5
= Trace

Y=1965 (dx=-5.1e-02, do=3.8e-02)

I pfsArm
1 == (x=4005.18, 0=1.18)
1 calExp
. = (x=4005.13, 0=1.21)
e Residual*5
1 - Trace
| |
|
1
1

{ e Y R

Y=2947 (dx=-1.0e-02, do=-1.9e-02)

. pfsArm
| ™ (x=4006.31, 0=1.17)

1 calExp

== (x=4006.30, 0=1.15)
e Residual*5
== Trace

Y=3930 (dx=-4.7e-02, do=1.6e-01)

pfsArm
| ™ (x=4013.47, 0=1.19)

calExp
= (x=4013.43, 0=1.35)
m—Residual*s
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Y=245 (dx=-6.3e-01, do=3.8e-01)

f=5, X=4002.4

Y=491 (dx=-3.5e-01, do=1.4e-01)

pfsArm
= (x=4008.24, 0=1.17)

calExp

= (x=4007.61, 0=1.55)
— Residual*s

w | Trace

pfsArm
= (x=4005.60, 0=1.17)

calExp
= (x=4005.26, 0=1.30)
— Residual*s
= Trace

Y=1228 (dx=-1.2e-01, do=-8.0e-03)

Y=1473 (dx=-1.1e-01, do=-2.7e-02)

pfsArm I -1 pfsArm I
= (x=4000.81, 0=1.16) 1 = (x=3999.94, 0=1.17) 1
calExp 1 calExp 1
= (x=4000.70, 0=1.16) = (x=3999.83, 0=1.14)
w— Residual*5 7| == Residual*5
= Trace

i Trace

Y=2210 (dx=-3.7€-02, do=2.4e-02)

Y=2456 (dx=-6.8e-02, do=2.0e-02)

= Residual*5
| == Trace

pfsArm _ pfsArm I
= (x=3998.83, 0=1.14) 1 = (x=3998.95, 0=1.15) 1

calExp calExp 1
= (x=3998.80, 0=1.17) = (x=3998.88, 0=1.17)

e Residual*5
w— Trace

Y=3193 (dx=-3.6e-02, do=1.9e-02)

Y=3439 (dx=-1.1e-01, do=>5.1e-02)

pfsArm I
= (x=400121, 0=1.16)

calExp
= (x=4001.18, 0=1.18)

= Trace

|
1
= Residual*5
- Trace .
1

pfsArm '
—(x=4002.70, 0=1.15) 1

calExp
= (x=4002.59, 0=1.20)
= Residual*5

3990 4000 4010

3990 4000

=] e Residual*5

o] == Residual*5

Y=736 (dx=-3.6e-01, do=1.1e-01)

pfsArm T
m—(x=4003.56, 0=1.17) 1

calExp 1
= (x=4003.20, 0=1.28)

== Trace

Y=1719 (dx=-8.3e-02, do=2.4e-02)

pfsArm I
= (x=3999.35, 0=1.16) 1

calExp 1
— (x=3999.26, 0=1.18)

w— Trace

Y=2702 (dx=1.3e-02, do=-3.2e-02)

pfsArm I
= (x=3999.36, 0=1.16) 1
calExp
m—(x=3999.37, 0=1.12)
= Residual*5
- Trace

pfsArm
= (x=4004.68, 0=1.15) 1

calExp
= (x=4004.59, 0=1.17)
= Residual*5
= Trace

3990

4000 4010 4020

Y=982 (dx=-1.7e-01, do=4.7e-02)

pfsArm T
= (x=4001.98, 0=1.17) 1
calExp 1

= (x=4001.81, 0=1.22)
e Residual*5
== Trace

Y=1965 (dx=-5.9e-02, do=7.8e-02)

pfsArm T
= (x=3998.96, 0=1.15) 1
calExp 1
= (x=3998.90, 0=1.23)
e Residual*5

= Trace

Y=2947 (dx=-2.3e-02, do=-1.7e-02)

pfsArm I

= (x=4000.14, 0=1.16) 1
1
1

calEx|
m—(x=4000.12, 0=1.14)
e Residual*5

= Trace

Y=3930 (dx=-2.6e-02, do=1.0e-01)

pfsArm T
m—(x=4007.25, 0=1.16) 1

calExp 1
— (x=4007.22, 0=1.26)

e Residual*5
= Trace

4000 4010 4020
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4000 . . 4000
L 1750 4 oo
o ope
3500 - 3500
L 1500
3000 ) 1 ‘ 3000
1250
2500 = . 2500
_ 1000 ]
X =
= == = == -0
< 2000 1 ZE 152 = - 2000
750 - = =
1500 . 1500
- —50
500 2
1000 - 1000
250
500 ~100 IR 500
0 0250 . . —150 : - B _6 . 0
3970 3980 3970 3980 3970 3980 -10 0

X (pix) Chi+ - Chi- Chi at each row



Y=245 (dx=-5.8e-01, do=1.6e-01)

f=10, X=3971.3

Y=491 (dx=-3.5e-01, do=8.0e-02)

pfsArm
= (x=3976.92, 0=121)

calExp
= (x=3976.33, 0=1.37)

e Residual*s

pfsArm
= (x=3974.39, 0=1.20)

calExp
= (x=3974.04, 0=1.28)
e Residual*5
== Trace

Y=1228 (dx=-1.3e-01, do=-1.2e-02)

Y=1473 (dx=-3.1e-02, do=-1.3e-02)

e Residual*5
= Trace

pfsArm I pfsArm

= (x=3969.73, 0=1.20) I = (x=3968.87, 0=1.19)
calExp - 1 calExp

— (x=3969.59, 0=1.19) = (x=3968.84, 0=1.18)

e Residual*5
= Trace

Y=2210 (dx=-1.9e-02, do=6.5e-04)

Y=2456 (dx=-1.7e-02, do=-1.3e-02)

m—(x=3967.74, 0=1.18)
e Residual*5
w— Trace

pfsArm - T ofsArm
I = (x=3967.76, 0=1.8) | = (x=3967.86, 0=1.18)
1 calExp 1 calExp
m—(x=3967.85, 0=1.17)

e Residual*5
= Trace

Y=736 (dx=-2.4e-01, do=6.0e-02)

pfsArm
| ™ (x=3972.40, 0=120)

calExp
= (x=3972.16, 0=1.26)
m— Residual*s
== Trace

pfsArm
= (x=3968.29, 0=1.17)
calExp
= (x=3968.24, 0=1.17)
= Residual*5
== Trace

pfsArm

| ™ (x=3968.26,0=1.16)
calExp

= (x=3968.24, 0=1.16)

= Residual*5

- Trace

e Residual*5
| Trace

1
Y=3193 (dx=-1.5e-02, do=-6.3€-04) Y=3439 (dx=-1.0e-01, do=2.6e-03)
T pfsArm 1 T pfsArm
1 = (x=3970.03, 0=1.16) | = (x=3971.45,0=1.17)
I r— (CEI:E;QP7O.OZ, 0=1.16) I — (c:I:E;QP7l 35, 0=1.17)

e Residual*5
= Trace

1

Y=3684 (dx=-2.1e-02, do=4.8e-03)
T pfsArm
1 m—(x=3973.36, 0=1.16)

calExp
= (x=3973.34, 0=1.17)
= Residual*5
- Trace

3960 3970 3980

3960 3970 3980

3960 3970 3980

Y=982 (dx=-1.4e-01, do=-1.0e-02)

pfsArm
= (x=3970.87, 0=1.20)

calExp
= (x=3970.73, 0=1.19)
e Residual*5
== Trace

Y=1965 (dx=-2.4e-02, do=1.3e-03)

pfsArm
= (x=3967.89, 0=1.19)

calExp
— (x=3967.87, 0=1.19)
e Residual*5

== Trace

1
Y=2947 (dx=3.3e-02, do=-2.5€-02)
_ T pfsArm
| ™ (x=3968.94, 0=1.18)
calEx|

m—(x=3968.97, 0=1.15)
e Residual*5
- Trace

Y=3930 (dx=-4.2e-02, do=3.9e-02)

T pfsArm
| ™ (x=3975.82,0=117)

calExp

(x=3975.78, 0=1.21)
e Residual*5
== Trace
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Y=245 (dx=-5.3e-01, do=1.5e-01)

f=12, X=3958.9

Y=491 (dx=-3.1e-01, do=1.0e-01)

Y=736 (dx=-2.1e-01, do=4.7e-02)

pfsArm pfsArm T pfsArm T
= (x=3964.47, 0=1.16) = (x=3961.97, 0=1.16) 1 = (x=3960.00, 0=1.16) 1

calExp calExp 1 calExp 1
= (x=3963.94, 0=1.31)

w— Residual*s
== Trace

= (x=3961.66, 0=1.26)
— Residual*s
w | Trace

| == Trace

Y=1228 (dx=-1.7e-01, do=4.3e-02)

Y=1473 (dx=-9.6e-02, do=1.6e-02)

pfsArm I pfsArm I
= (x=3957.35, 0=1.16) 1 = (x=3956.50, 0=1.15) 1

calExp 1 calExp 1
= (x=3957.17, 0=1.20)

= Residual*5
= Trace

= (x=3956.40, 0=1.17)
e Residual*5
= Trace

Y=2210 (dx=-2.5e-02, do=2.9e-02)

Y=2456 (dx=-2.6e-02, do=2.0e-02)

pfsArm I pfsArm I
= (x=3955.39, 0=1.13) 1 = (x=3955.49, 0=1.14) 1
calEx 1 calExp 1

m—(x=3955.36, 0=1.16)
= Residual*5
= Trace

| ™ (x=3955.46, 0=1.16)

e Residual*5
w— Trace

1 1
Y=3193 (dx=-7.7e-02, do=1.5e-02) Y=3439 (dx=-1.1e-01, do=2.5e-02)
pfsArm T T pfsArm
= (x=3957.57, 0=1.14) 1 1 = (x=3950.01, 0=1.14)
e calExp | | calExp
(x=3957.50, 0=1.15) (x=3958.91, 0=1.16)

= Residual*5
w— | Trace

e Residual*5
= Trace

3950 3960 3970

3950 3960 3970

= (x=3959.79, 0=1.21)

wm— Residual*s

]

Y=1719 (dx=-8.2e-02, do=2.8e-02)

pfsArm I
= (x=3955.87, 0=1.16) 1

calExp 1
= (x=3955.79, 0=1.19)

e Residual*5
= Trace

1
Y=2702 (dx=-1.1e-02, do=-3.7e-03)
. I pfsArm
| ™ (x=395583, 0=115)
I r— (c:f;spss.az, 0=1.14)

e Residual*s
== Trace

1

Y=3684 (dx=-8.5e-02, do=1.6e-02)
T pfsArm
| ™ (x=3960.85, 0=1.15)
I — (CEI:E;QDGOJE, 0=1.16)

e Residual*s
= Trace

3950 3960 3970

Y=982 (dx=-1.6e-01, do=5.0e-02)

pfsArm T
= (x=3958.48, 0=1.16) 1
calExp 1

= (x=3958.32, 0=1.21)
e Residual*5
== Trace

Y=1965 (dx=-6.0e-02, do=4.2e-02)

4 pfsArm T
= (x=395553, 0=1.14) 1
calExp 1

= (x=3955.47, 0=1.18)

e Residual*5
= Trace

1

Y=2947 (dx=-2.8e-02, do=-6.0e-03)
pfsArm I
= (x=3956.54, 0=1.14) 1
calExp 1

m—(x=3956.52, 0=1.13)
= Residual*5
- Trace

1

Y=3930 (dx=-7.2e-02, do=8.4e-02)
T pfsArm
| ™ (x=3963.32,0=1.14)
| = (cxa‘:E;;m.zs, 0=122)

e Residual*5
== Trace

3950 3960 3970
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Y=245 (dx=-6.2e-01, do=1.6e-01)

f=15, X=3940.3

Y=491 (dx=-3.5e-01, do=9.6e-02)

pfsArm
= (x=3945.75, 0=1.16)

calExp
= (x=3945.14, 0=1.32)
— Residual*s
=] == Trace

pfsArm
| ™ (x=394329,0=1.15)

calExp
= (x=3942.94, 0=1.24)
m— Residual*s

== Trace

Y=1228 (dx=-1.4e-01, do=3.4e-02)

Y=1473 (dx=-5.0e-02, do=1.5e-02)

- pfsArm
| = (x=393874,0=1.16)

1 calExp
= (x=3938.60, 0=1.19)
= Residual*5
= Trace

pfsArm
| ™ (x=3937.90, 0=1.16)
1 calExp

= (x=3937.85, 0=1.18)
= Residual*5
= Trace

Y=2210 (dx=-1.3e-02, do=2.4e-02)

Y=2456 (dx=-1.2e-02, do=2.6e-02)

pfsArm pfsArm
I = (x=3936.80,0-114) | = (x=3936.88, 0=1.15)

T 1 calExp 1 calExp
m—(x=3936.87, 0=1.18)

m—(x=3936.78, 0=1.17)
= Residual*5
- Trace

e Residual*5
= Trace

e Residual*5
| Trace

1
Y=3193 (dx=-4.9e-02, do=7.0e-03) Y=3439 (dx=-1.1e-01, do=1.6e-02)
T pfsArm T pfsArm
| = (x=3938.92, 0=1.15) | = (x=3940.33,0=1.13)
- I = (CEI:E3)(9’}38.87, 0=1.16) . I r— (CSI:E;gAO 22, 0=1.15)

e Residual*5
= Trace

3930 3940 3950

3930 3940 3950

Y=736 (dx=-1.9e-01, do=5.4e-02)

pfsArm
| ™ (x=3941.36,0=115)

. 1 calExp
= (x=3941.17, 0=120)

= Residual*5
== Trace

Y=1719 (dx=-1.7e-02, do=1.9e-02)

I fsArm
| ™ (x=3937.34,0=113)
1 calExp

= (x=3937.32, 0=1.15)

e Residual*5
= Trace

Y=982 (dx=-2.0e-01, do=4.1e-02)

pfsArm
| ™ (x=3939.86,0=1.17)
calExp
= (x=3939.66, 0=1.21)

e Residual*5
== Trace

Rl "ol

Y=1965 (dx=-5.3e-02, do=3.5e-02)

pfsArm
| ™ (x=3936.94,0=1.16)
1 calExp
= (x=3936.88, 0=1.19)
e Residual*5
= Trace

1
Y=2702 (dx=2.6e-02, do=8.9e-03) Y=2947 (dx=1.2e-02, do=-7.3e-03)
I pfsArm I pfsArm
1 = (x=3937.28, 0=1.13) | = (x=3937.91,0=115)
N 1 — (c:f;spnso, 0=1.14) I — (cf‘:E;gw.sz, 0=1.15)
e Residual*5 e Residual*5
== Trace == Trace
R = . e e 1
1 1
Y=3684 (dx=-7.3e-02, do=3.3e-02) Y=3930 (dx=-2.6e-02, do=7.7e-02)
T pfsArm T pfsArm
1 = (x=3942.18, 0=1.13) | =™ (x=3944.53,0=1.13)
T I r— (CEIZE;QDIJZ.II, 0=1.16) T I — (CE‘ZE;QD44.50, 0=121)

e Residual*s
= Trace

e Residual*5
== Trace

3930 3940 3950

3930 3940 3950 3960
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Y=245 (dx=-5.7e-01, do=2.7e-01)

f=19, X=3915.2

Y=491 (dx=-3.6e-01, do=6.9e-02)

Y=736 (dx=-2.0e-01, do=3.2e-02)

T pfsArm
| ™ (x=3920.55,0=120)
1 calExp

= (x=3919.99, 0=1.47)
m—Residual*s
== Trace

pfsArm
1 = (x=3918.17, 0=1.16)
calExp
= (x=3917.82, 0=1.23)
= Residual*5
== Trace

pfsArm
| ™ (x=391628 0=117)

calExp
= (x=3916.07, 0=1.20)

= Residual*5
== Trace

AT

Y=1228 (dx=-1.2e-01, do=-3.2e-02)

Y=1473 (dx=-8.7e-02, do=1.2e-02)

Y=1719 (dx=-5.0e-02, do=>5.3e-02)

pfsArm
| ™ (x=391367,0=123)
calExp
= (x=3913.55, 0=1.20)
= Residual*5
- = Trace

T pfsArm
1 = (x=3912.95, 0=1.15)

calExp
= (x=3912.86, 0=1.16)
= Residual*5

= Trace

I fsArm
| = (x=3912.32,0=115)
1 calExp

- (x=3912.27, 0=1.20)

e Residual*5
= Trace

Y=2210 (dx=-3.7e-02, do=3.3e-02)

Y=2456 (dx=-2.6e-02, do=7.9e-03)

Y=2702 (dx=-2.4e-02, do=6.3e-03)

T pfsArm pfsArm

T | = x=391173,0=123) | = (x=3911.80,0=124)
1 calExp - 1 calExp

= (x=3911.69, 0=1.26) = (x=3911.78, 0=1.25)

e Residual*5

pfsArm
| =™ (x=391223,0=114)
1 calExp

(x=3912.20, 0=1.14)

e Residual*s

Y=3684 (dx=-9.7e-02, do=2.4e-02)

e Residual*5

1
Y=3193 (dx=-4.4e-02, do=-3.9e-03) Y=3439 (dx=-1.1e-01, do=2.3e-02)
T pfsArm T pfsArm
| =™ (x=3913.77, 0=123) | ™ (x=3915.18,0=114)
= I r— ;:EI:E;QPI3.7Z, 0=1.22) T I — (c:I:E;gIS,OS, 0=1.16)

e Residual*5
= Trace

pfsArm
1 = (x=3916.99, 0=1.13)

calExp
= (x=3916.89, 0=1.16)
e Residual*s
= Trace

3900 3910 3920

3900 3910 3920 3930

3910 3920 3930

Y=982 (dx=-2.0e-01, do=-6.3e-03)
T

pfsArm
| ™ (x=3914.75,0=126)
1 calExp
= (x=3914.55, 0=1.25)
m—_Residual*5
== Trace

Y=1965 (dx=-1.9e-02, do=1.9e-02)

- I pfsArm
1 = (x=3911.99, 0=1.14)

1 calExp
= (x=3911.97, 0=1.16)

e Residual*5
= Trace

1
Y=2947 (dx=-6.6e-03, do=-1.3e-02)
I pfsArm
| ™ (x=3912.79, 0=125)
I — (cf‘f;glus, 0=123)

e Residual*5
== Trace

1
Y=3930 (dx=-4.5e-02, do=7.9e-02)
T

pfsArm
. 1 = (x=3919.25, 0=1.14)

calExp
= (x=3919.21, 0=1.22)
m—Residual*s

3910 3920 3930
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Y=245 (dx=-6.6e-01, do=4.6e-01)

f=20, X=3909.1

Y=491 (dx=-3.0e-01, do=1.7e-01)

= pfsArm 1 pfsArm
= (x=3914.40, 0=1.31) = (x=3912.10, 0=1.27)
calExp calExp
- (x= 3913 74, 0=1.77) — (x=3911.79, 0=1.44)
m— Residual*5 T m— Residual*5
= Trace == Trace
—— - — — — - - —l%
A T T T
Y=1228 (dx=-1.4e-01, do=-5.6e-02) Y=1473 (dx=-1.0e-01, do=-4.7e-02)
T pfsArm pfsArm I
== (x=3907.56, 0=1.30) == (x=3906.73, 0=1.31) 1
calExp calExp
= (x=3907.43, 0=1.24) | = (x=3906.62, 0=1.27)

e Residual*5
- Trace

e Residual*5
= Trace

i

N

Y=2210 (dx=4.1e-02, do=-7.1e-03)

Y=2456 (dx=-1.4e-02, do=-6.0e-02)

(x=3905.68, 0=1.26)
e Residual*5

k& T pfsArm pfsArm T
| = (x=3905.64, 0=1.27) == (x=3905.70, 0=1.30) 1
1 calExp calEx 1

p
m—(x=3905.69, 0=1.24)
= Residual*5

| == Trace

[

1
3 (dx=2.7e-03, do=-8.2e-02)

?tf

I I

pfsArm
= (x=3907.65, 0=1.27)

calExp
= (x=3907.65, 0=1.19)
e Residual*5
= Trace

pfsArm
= (x=3909.11, 0=123) 1

calExp
= (x=3908.99, 0=1.23)
= Residual*5
w  Trace

3900 3910 3920

3900 3910 3920

Y=736 (dx=-1.4e-01, do=8.1e-02)

pfsArm

1 = (x=3910.20, 0=1.26)
calExp

= (x=3910.06, 0=1.34)

m—Residual*s

== Trace

pfsArm
| = (x=3906.26, 0=125)

calExp

= (x=3906.25, 0=1.27)
== Residual*5

== Trace

}L_N

pfsArm I
== (x=3906.17, 0=1.23)

. calExp

Y=2702 (dx 3.5e-02, do=-3.0e- 03
= (x=3906.21, 0=1.23)

e Residual*5
=] == Trace

Y=3684 (dx—-6.3e-02, do=-5.3e-02)

T L pfsArm
| ™ (x=3910.74, 0=128)
calExp
= (x=3910.68, 0=1.22)
e Residual*s
= Trace

3900 3910 3920

Y=982 (dx=-6.5e-02, do=-6.6e-02)

T pfsArm
| = (x=3908.62, 0=1.34)
calExp
= (x=3908.56, 0=1.27)
m—Residual*5
== Trace
- — -

Y=1965 (dx=4.1e-02, do=-1.5e-02)

I pfs rm
| ™ (x=3905.77, 0=1.30)
1 — (x=3905481, 0=1.29)
= Residual*5
= Trace
——

Y=2947 (dx=1.4e-02, do=-4.6€-02)

pfsArm
(x=3906.68, 0=1.28)
calExp
m—(x=3906.70, 0=1.23)
e Residual*5
= Trace

!

pfsArm
= (x=3913.14, 0=121) 1

calExp

(x=3913.09, 0=1.24)
= Residual*s
= Trace

3900 3910 3920
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Y=245 (dx=-5.8e-01, do=3.1e-01)

f=22, X=3896.5

Y=491 (dx=-3.2e-01, do=9.8e-02)

pfsArm T pfsArm
= (x=3901.89, 0=1.19) 1 | = x=3899.54,0=1.17)
calExp | T calExp
- ™ (x=3901.31, 0=1.50) - (x=3899.22, 0=127)
s Residual*s m— Residual*s
= Trace == Trace
- — I — " — - -
i; '

Y=1228 (dx=-1.6e-01, do=7.7e-03)

Y=1473(dx=-3.3e-02, do=-2.3e-02)

7 T fsArm
1 = (x=3895.20, 0=1.16)

calExp
= (x=3895.04, 0=1.16)
= Residual*5

= Trace

pfsArm
| ™ (x=3894.39,0=115)
1 calExp
— (x=3894.36, 0=1.13)
= Residual*5
- = Trace

Y=2210 (dx=-7.8e-03, do=8.1e-03)

Y=2456 (dx=1.5e-02, d0=6.1e-04)

1 pfsArm pfsArm
1 = (x=3893.28, 0=1.14) 1 = (x=3893.35, 0=1.14)

1 calExp 1 calExp
= (x=3893.28, 0=1.15) — (x=3893.37, 0=1.14)

e Residual*5
w— Trace

e Residual*5
= Trace

Y=3193 (dx=-4.7e-02, do=-1.7e-02)

Y=3439 (dx=-1.1e-01, do=-1.3e-03)

pfsArm
1 = (x=3895.25, 0=1.14)

calExp

(x=3895.20, 0=1.12)
e Residual*5
| Trace

pfsArm
| ™ (x=3896.54, 0=1.14)

calExp
= (x=3896.43, 0=1.14)
= Residual*5
- Trace

3880 3890 3900

3910 3880 3890 3900 3910

Y=736 (dx=-2.5e-01, do=4.9e-02)

T pfsArm
| ™ (x=3897.68,0=1.17)

1 calExp
= (x=3897.43, 0=122)

- = Residual*5
== Trace

Y=1719 (dx=-1.4e-02, do=-1.1€-02)

- I pfsArm
| =™ (x=389377,0=1.16)

1 calExp
= (x=3893.76, 0=1.15)

e Residual*5
= Trace

Y=2702 (dx=3.3e-02, do=3.1e-03)

pfsArm

| ™ (x=3893.65,0=1.14)
1 calExp

m—(x=3893.69, 0=1.15)

e Residual*s
== Trace

Y=3684 (dx=-9.2e-02, do=-1.4e-03)

pfsArm
| ™ (x=3898.30,0=1.14)

| calExp

= (x=3898.20, 0=1.14)
= Residual*5
- = Trace

3890 3900 3910

Y=982 (dx=-1.9e-01, do=3.6e-02)

T pfsArm
1 = (x=3896.28, 0=1.16)
1 1 calExp

= (x=3896.09, 0=1.20)
m— Residual*5
== Trace

Y=1965 (dx=-6.5e-02, do=2.8e-02)

I pfsArm

- | ™ (x=3893.43,0=1.15)

1 calExp
= (x=3893.37, 0=1.17)

e Residual*5

== Trace

Y=2947 (dx=1.1e-02, do=-2.2e-02)

- I pfsArm
= (x=3894.31, 0=1.14)

calEx
= (x=3894.32, 0=1.12)

e Residual*5
== Trace

oL

Y=3930 (dx=-6.0e-02, do=4.4e-02)

T pfsArm
| ™ (x=3900.53, 0=1.14)
| calExp

= (x=3900.47, 0=1.19)

e Residual*5
== Trace

3890 3900 3910
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Y=245 (dx=-3.5e-01, do=2.6e-01)

f=29, X=3852.9

Y=491 (dx=-3.3e-01, do=2.8e-02)

T pfsArm
1 = (x=3858.19, 0=1.17)

calExp
= (x=3857.85, 0=1.43)
— Residual*s

w= | Trace

pfsArm
| ™ (x=3855.77,0=131)

calExp
= (x=3855.44, 0=1.33)
m— Residual*s

== Trace

Y=1228 (dx=-1.4e-01, do=5.4e-02)

Y=1473 (dx=-5.5e-02, do=9.2e-05)

I pfsArm = I pfsArm
| ™ (x=3851.63,0=1.23) | ™ (x=385078,0=1.32)
1 calExp 1 calExp

= (x=3851.49, 0=1.29) = (x=3850.72, 0=1.32)

e Residual*5
= Trace

Residual*5

Y=2210 (dx=-1.9e-02, do=5.5e-02)

Y=2456 (dx=-2.0e-02, do=9.8e-03)

I pfsArm I pfsArm
| = (x=3849.71,0=1.25) | = (x=384975,0=127)
1 calExp 1 calExp

= (x=3849.69, 0=1.30) = (x=3849.73, 0=1.28)

e Residual*5

- e Residual*5

Y=3193 (dx=-4.7€-02, do=2.8e-02)

Y=3439 (dx=-3.8e-02, do=-1.3e-02)

pfsArm
| ™ (x=3851.56, 0=1.18)
| calExp

= (x=3851.51, 0=1.21)
e Residual*5
= Trace

pfsArm
| = (x=385275,0=125)

calExp
= (x=3852.71, 0=1.24)
= Residual*5
- Trace

3840 3850 3860

3840 3850 3860

Y=736 (dx=-2.0e-01, do=2.4e-02)

pfsArm
1 = (x=3854.13, 0=1.16)
1 calExp
= (x=3853.93, 0=1.19)

= Residual*5
== Trace

Y=982 (dx=-1.3e-01, do=2.1e-02)

Y=1719 (dx=-6.9e-02, do=7.6e-02)

pfsArm
| ™ (x=3852.66, 0=125)
1 calExp
= (x=3852.53, 0=1.27)
m—_Residual*5
== Trace

SAI

- pfsArm
| ™ (x=3850.33,0=116)

calExp
= (x=3850.26, 0=1.23)
= Residual*5

== Trace

Y=1965 (dx=-1.4e-02, do=3.5e-02)

Y=2702 (dx=-3.9e-02, do=5.7e-02)

pfsArm
| ™ (x=3849.82,0=133)
calExp
= (x=3849.80, 0=1.37)
e Residual*5
= Trace

T I pfsArm
1 m—(x=3850.16, 0=1.14)

1 calExp
m—(x=3850.13, 0=1.20)

e Residual*s

Y=2947 (dx=-9.0e-03, do=2.8e-02)

I pfsArm

| ™ (x=3850.65 0=122)

1 calExp
m—(x=3850.64, 0=1.25)

e Residual*5
== Trace

1

Y=3684 (dx=-4.9e-02, do=4.4e-02)
T pfsArm
| ™ (x=3854.45,0=1.16)
| = (CEI:EBXSDMAO, 0=121)

e Residual*s
= Trace
-

Y=3930 (dx=-4.5e-02, do=1.3e-01)

pfsArm
| = (x=3856.57,0=1.18)

calExp

(x=3856.53, 0=1.31)
e Residual*5
== Trace

3840 3850 3860

3870 3840 3850 3860 3870
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Y=245 (dx=-3.6e-01, do=1.5e-01)

f=33, X=3828.1

Y=491 (dx=-2.2e-01, do=7.2e-03)

Y=736 (dx=-1.2e-01, do=9.1e-02)

pfsArm
| ™ (x=382923,0=114)
1 calExp

= (x=3829.11, 0=1.23)
= Residual*5
== Trace

Y=982 (dx=-7.5e-02, do=7.0e-02)

Y=1719 (dx=3.1e-02, do=2.9e-02)

T pfsArm
| ™ x=3827.84,0=117)
1 calExp
= (x=3827.77, 0=1.24)
m—_Residual*5
== Trace

pfsArm pfsArm
7 1 = (x=383321, 0=1.14) 1 = (x=3830.98, 0=1.14)
1 calExp calExp
= (x=3832.85, 0=129) = (x=3830.77, 0=1.15)
s Residual*s m— Residual*s
= Trace == Trace
|
1 -
1
1 -
- -7
-
T T 1= T T T
Y=1228 (dx=-1.0e-01, do=6.6e-03) Y=1473 (dx=-3.5e-03, do=1.6e-02)
I pfsArm I pfsArm
_ | = (x=3826.82,0=1.16) 1 = (x=3826.10, 0=1.13)
1 calExp 1 calExp
- (x=3826.72, 0=1.17) = (x=3826.10, 0=1.15)

e Residual*5
= Trace

e Residual*5
= Trace

pfsArm
| ™ (x=3825.51,0=113)
calExp
= (x=3825.54, 0=1.16)
= Residual*5
= Trace

Y=1965 (dx=1.3e-03, do=3.3e-02)

e Residual*5
w— Trace

1
Y=2210 (dx=5.1e-02, do=1.7e-02) Y=2456 (dx=3.2e-02, do=2.9e-02)
I pfsArm I pfsArm
- 1 = (x=3824.99, 0=1.12) 1 = (x=3825.03, 0=1.12)
I r— (cfggzs,os, 0=1.14) I r— ((:B%}zs 07, 0=1.15)

e Residual*5
= Trace

1
Y=2702 (dx=6.0e-02, do=2.0e-02)

I pfsArm
1 = (x=3825.16, 0=1.12)
1 calExp

= (x=3825.16, 0=1.16)

e Residual*5

Y=3193 (dx=2.7e-03, do=8.3e-03)

Y=3439 (dx=-4.5e-02, do=2.5e-02)

pfsArm

1 m—(x=3825.30, 0=1.12)
1 calExp
m—(x=3825.36, 0=1.14)

e Residual*s
== Trace

Y=2947 (dx=7.1e-02, do=-1.3e-02)

pfsArm
. | =™ x=3826.67,0=1.13)

| calExp

= (x=3826.67, 0=1.14)
= Residual*5
= Trace

T pfsArm
| = (x=3827.86,0=1.14)

| calExp

(x=3827.81, 0=1.17)
e Residual*5
= Trace

Y=3684 (dx=-3.7e-02, do=4.1e-02)

I pfsArm

| ™ (x=3825.81,0=1.14)

1 calExp
m—(x=3825.89, 0=1.13)

e Residual*5
== Trace

T pfsArm
| ™ x=3829.46,0=1.13)

calExp
= (x=3829.42, 0=1.17)
= Residual*5

3810 3820 3830 3840

3820 3830 3840

Y=3930 (dx=5.6e-02, do=5.3e-02)

3820 3830 3840

pfsArm
| = (x=3831.53,0=1.13)

| calExp

(x=3831.58, 0=1.18)
e Residual*5
== Trace

3820 3830 3840




4000

3500

3000

2500

ix)

e

< 2000
1500
1000

500

calexp

3750

- 2000

1500

1000

500

0500

Residual

3740

3750
X (pix)

-80

f=46, X=3747.3

|| IIIIIIIIIIII I

1 IIIIrIIIhIIII IIII

IIIIIIIII1IIIIII

3740

3750

Shift measure

=5 0
Chi+ - Chi-

Chi at each row

4000

3500

3000

2500

2000

1500

1000

500



Y=245 (dx=-5.2e-01, do=2.0e-01)

f=46, X=3747.3

Y=491 (dx=-2.1e-01, do=8.1e-02)

- pfsArm pfsArm
1 = (x=3752.14, 0=1.13) 1 = (x=3750.08, 0=1.13)
1 calExp 1 calExp
= (x=3751.62, 0=1.33) = (x=3749.87, 0=121)
-1 s Residual*s m— Residual*s
= Trace
1
1 1
1
|
- -7
T T 1 T T I T
Y=1228 (dx=-5.0e-02, do=3.0e-02) Y=1473 (dx=-3.0e-02, do=7.8e-04)
T fsArm T fsArm
1 = (x=3746.23, 0=1.13) | = (x=3745.48,0=113)
1 calExp 1 calExp
- = (x=3746.18, 0=1.16) = (x=3745.45, 0=1.13)

e Residual*5

e Residual*5

Y=2210 (dx=6.0e-02, do=3.2e-02)

Y=2456 (dx=3.2e-02, do=3.3e-02)

e Residual*5

1 I pfsArm pfsArm
| = (x=3744.37,0=1.12) | = (x=374437,0=112)

1 calExp 1 calExp
m—(x=3744.43, 0=1.15) = (x=3744.40, 0=1.15)

e Residual*5

Y=3193 (dx=2.9e-02, do=-7.1e-04)

Y=3439 (dx=-4.5e-02, do=1.9e-02)

T pfsArm
| = (x=3745.80, 0=1.12)

| calExp

= (x=3745.83, 0=1.12)
- = Residual*5
= Trace

pfsArm
| = (x=3746.85 0=1.12)

calExp
= (x=3746.81, 0=1.14)
= Residual*5

3750

3730 3740

3760 3730

3740 3750 3760

Y=736 (dx=-9.2e-02, do=5.2e-02)

pfsArm
| ™ (x=3748.44,0=114)
1 calExp

= (x=3748.35, 0=1.19)
m— Residual*s

Y=1719 (dx=8.9e-03, do=6.7e-03)

I fsArm
1 = (x=3744.95,0=1.12)
1 calExp

= (x=3744.96, 0=1.13)

e Residual*5
= Trace

1
Y=2702 (dx=3.9e-02, do=1.8e-02)
I pfsArm
| ™ (x=374459,0=112)
I calEx|

(x=3744.63, 0=1.14)
e Residual*s
= Trace

Y=3684 (dx=5.7e-04, do=9.7e-03)

pfsArm
| = (x=3748.30,0=112)

calExp
= (x=3748.30, 0=1.13)
= Residual*5
- Trace

3760

3750

3740

Y=982 (dx=-8.5e-02, do=3.5e-02)

pfsArm
| = (x=374720,0=113)

1 calExp
= (x=3747.11, 0=1.17)

e Residual*5
== Trace

Y=1965 (dx=4.5e-02, do=5.1e-02)

pfsArm
| = (x=374455,0=1.13)
calExp
= (x=3744.60, 0=1.18)
e Residual*5
= Trace

1
Y=2947 (dx=5.9e-02, do=-8.3e-03)

I pfsArm
1 = (x=3745.08, 0=1.11)
calEx

(x=3745.14, 0=1.10)
e Residual*5
== Trace

T
1

Y=3930 (dx=8.2e-03, do=2.9e-02)

pfsArm
| = (x=3750.17,0=1.12)

| calExp
= (x=3750.18, 0=1.14)
m—Residual*s
- Trace

|

|

I

]

T

3740 3750 3760
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Y=245 (dx=-4.0e-01, do=7.9e-02)

f=50, X=3722.3

Y=491 (dx=-2.5e-01, do=1.0e-01)

T pfsArm
1 = (x=3727.23, 0=1.14)
calExp
= (x=3726.83, 0=1.22)

w— Residual*5
= Trace

pfsArm
1 = (x=372521, 0=1.14)

1 calExp
= (x=3724.96, 0=1.24)

m— Residual*5
== Trace

Y=736 (dx=-1.2e-01, do=3.2e-02)

Y=1228 (dx=-5.3e-02, do=1.2e-03)

Y=1473 (dx=-1.4e-02, do=-7.7e-03)

pfsArm
| ™ (x=3723.60,0=1.15)
1 calExp

= (x=3723.48, 0=1.18)
—Residual*s
== Trace

Y=1719 (dx=3.5e-03, do=2.2e-02)

I pfsArm
| =™ (x=372143,0=114)

calExp
— (x=3721.38, 0=1.14)
w—— Residual*5

pfsArm
| ™ (x=3720.68, 0=1.16)

1 calExp
T = (x=3720.67, 0=1.15)

m—— Residual*5
= Trace

Y=2210 (dx=2.7e-02, do=2.6e-02)

Y=2456 (dx=-2.0e-03, do=3.2e-02)

I fsArm
1 = (x=3720.18, 0=1.13)
1 calExp

= (x=3720.18, 0=1.15)

m——Residual*5
= Trace

T pfsArm i I pfsArm
| = x=3719.57,0=1.15) | = x=3719.57,0=1.15)
1 calExp 1 calExp

== (x=3719.57, 0=1.18)

(x=3719.60, 0=1.17)
m—— Residual*5
w— Trace

m— Residual*5
= Trace

Y=2702 (dx=1.1e-02, do=6.3e-03)

Y=3193 (dx=3.2e-03, do=4.5e-03)

Y=3439 (dx=-5.1e-02, do=4.0e-03)

I pfsArm
| = (x=3719.76,0=1.17)
1 calExp

= (x=3719.77, 0=1.18)

m——Residual*5

Y=982 (dx=-7.8e-02, do=2.1e-02)

pfsArm
| ™ (x=3722.38,0=1.14)
1 calExp
= (x=3722.31, 0=1.16)
— Residual*s
- l w Trace
|
|
1
| :-c,‘:::l—@-
. -
1

Y=1965 (dx=-2.5e-02, do=3.5e-02)

pfsArm
| ™ (x=371976, 0=1.16)

calExp
= (x=3719.73, 0=1.19)

1
Y=2947 (dx=4.0e-02, do=-1.5€-02)
I pfsArm
i 1 = (x=3720.24, 0=1.13)
1 [ (cf‘f;?zo.zs, 0=1.11)

m——Residual*5

T pfsArm
| ™ (x=3720.88, 0=122)

| calExp

(x=3720.88, 0=1.22)
e Residual*5
| Trace

pfsArm
1 | = (x=3721.89, 0=123)

calExp
= (x=3721.84, 0=123)
m— Residual*s
- Trace

Y=3684 (dx=-1.5e-02, do=1.9e-02)

3710 3720 3730

3710 3720 3730

T pfsArm
| ™ (x=3723.34,0=1.14)

calExp
= (x=3723.32, 0=1.16)
m—Residual*5

3710 3720 3730

Y=3930 (dx=5.1e-03, do=2.5e-02)

pfsArm
T 1 = (x=3725.17, 0=1.13)

calExp
= (x=3725.17, 0=1.15)
m—Residual*5

3710 3720 3730 3740
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Y=245 (dx=-4.3e-01, do=8.8e-02)

f=61, X=3654.1

Y=491 (dx=-2.3e-01, do=6.2e-02)

pfsArm
| ™ (x=365871,0=1.13)

calExp
= (x=3658.28, 0=1.22)
e Residual*s
= Trace

T pfsArm
| ™ (x=3656.82, 0=1.13)

1 calExp
= (x=3656.59, 0=1.20)

e Residual*5
== Trace

Y=736 (dx=-1.1e-01, do=6.2e-02)

pfsArm
| ™ (x=3655.35,0=113)
1 calExp

= (x=3655.23, 0=1.19)
e Residual*5

Y=1228 (dx=-7.6e-03, do=6.2e-02)

Y=1473 (dx=2.7e-02, do=3.1e-02)

T pfsArm pfsArm
1 = (x=3653.28, 0=1.13) | ™ (x=3652.57,0=113)
1 calExp 1 calExp
= (x=3653.28, 0=1.19) = (x=3652.59, 0=1.16)
= Residual*5 = Residual*5
I] = Tace - Trace
|
|
1
i
T T T T T 1 T
Y=2210 (dx=8.0e-02, do=2.9e-02) Y=2456 (dx=3.6e-02, do=3.4e-02)
T pfsArm pfsArm
| ™ (x=3651.45,0=1.12) | ™ (x=3651.42,0=1.12)
1 calExp 1 calExp
= (x=3651.53, 0=1.15) = (x=3651.45, 0=1.15)

e Residual*5
w— Trace

e Residual*5

Y=3193 (dx=4.5e-02, do=-2.2e-02)

Y=3439 (dx=7.1e-03, do=-1.7e-02)

T pfsArm
| ™ (x=3652.62,0=1.12)

| calExp

(x=3652.66, 0=1.10)
e Residual*5
| Trace

pfsArm
| ™ (x=3653.54, 0=1.12)

| calExp

= (x=3653.54, 0=1.10)
= Residual*5
- Trace

3640 3650 3660

3640 3650 3660

Y=982 (dx=-5.1e-02, do=4.4e-02)

Y=1719 (dx=1.9e-02, do=1.9e-02)

pfsArm
1 = (x=3654.20, 0=1.13)
1 calExp
= (x=3654.15, 0=1.17)
m—_Residual*5
== Trace

T

I fsArm

. 1 = (x=3652.06, 0=1.12)
1 calExp

= (x=3652.08, 0=1.13)

e Residual*5
= Trace

pfsArm

= (x=3651.65, 0=1.13)
calExp

= (x=3651.69, 0=1.18)

= Residual*5

== Trace

1
Y=2702 (dx=2.1e-02, do=2.5e-02)
T I pfsArm
| =™ (x=3651.58,0=1.12)
I r— (c:LEBXgSLGO, 0=1.15)

e Residual*s
== Trace

1
Y=2947 (dx=9.1e-02, do=1.4e-02)
I pfsArm
1 = (x=3652.00, 0=1.11)
1 calExp

—(x=3652.09, 0=1.12)
e Residual*5
- Trace

1
Y=3684 (dx=-1.6e-02, do=1.5e-02)
T pfsArm
| ™ (x=3654.76, 0=1.12)
T | — (CEI:E;SDMJS, 0=1.13)

e Residual*s
= Trace

Y=3930 (dx=3.9e-02, do=3.2e-02)

3640 3650 3660

pfsArm
| ™ (x=3656.43,0=1.12)

calExp
= (x=3656.47, 0=1.15)
m—Residual*s

3670 3640 3650 3660 3670
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Y=245 (dx=-8.9e-02, do=-1.7e-01)

f=65, X=3629.2

Y=491 (dx=-2.9e-01, do=3.0e-02)

pfsArm
= (x=3633.86, 0=1.16) 1

calExp
= (x=3633.77, 0=0.99)

w— Residual*s
= Trace

r

pfsArm
1 = (x=3632.07, 0=1.14)

1 calExp
= (x=3631.78, 0=1.17)

e Residual*5
== Trace

Y=736 (dx=-1.8e-01, do=-9.6e-03)

Y=1228 (dx=-9.3e-02, do=3.9e-02)

Y=1473 (dx=-3.9e-02, do=-1.4e-02)

T pfsArm
| ™ (x=3630.57,0=1.15)

1 calExp
= (x=3630.39, 0=1.14)

= Residual*5
== Trace

Y=982 (dx=-7.4e-02, do=2.0e-02)

Y=1719 (dx=-6.3e-03, do=4.4e-02)

pfsArm
| ™ (x=3629.44,0=1.14)

1 calExp
= (x=3629.37, 0=1.16)

e Residual*5

T fsArm . T pfsArm T fsArm
| = (x=3628.54,0-1.14) | = (x=3627.83,0=1.15) 1 = (x=3627.33, 0=1.13)
1 calExp 1 calExp 1 calExp

= (x=3628.45, 0=1.18) - (x=3627.79, 0=1.14) = (x=3627.33, 0=1.17)

e Residual*5
= Trace

e Residual*5
= Trace

Y=2210 (dx=3.7e-03, do=6.4e-02)

Y=2456 (dx=4.9e-02, do=3.9e-02)

e Residual*5
= Trace

Y=1965 (dx=4.7e-02, do=5.2e-02)

pfsArm I pfsArm
| ™ (x=3626.71,0=1.13) | ™ (x=3626.67,0=1.13)
1 calExp 1 calExp

(x=3626.72, 0=1.20) = (x=3626.72, 0=1.17)

e Residual*5

e Residual*5
= Trace

Y=2702 (dx=4.0e-02, do=3.1e-02)

I fsArm
| ™ (x=3626.91,0=115)
1 calExp

= (x=3626.96, 0=1.20)

e Residual*5

Y=2947 (dx=6.6e-02, do=-7.7e-04)

Y=3193 (dx=3.7e-02, do=4.0e-02)

Y=3439 (dx=-5.5e-02, do=1.2e-02)

pfsArm I pfsArm
| ™ (x=3626.82,0=1.14) 1 = (x=3627.23, 0=1.12)
1 calExp 1 calExp

(x=3626.86, 0=1.17) - (x=3627.29, 0=1.12)

e Residual*s
== Trace

pfsArm
| = (x=3627.81, 0=1.14)

calExp

(x=3627.85, 0=1.18)
e Residual*5
| Trace

pfsArm
| ™ (x=362870, 0=1.13)

calExp
= (x=3628.64, 0=1.14)
= Residual*5

Y=3684 (dx=-4.3e-04, do=2.9e-02)

e Residual*5
== Trace

3620 3630 3640

3620 3630 3640

T pfsArm
| ™ (x=3629.89, 0=1.14)

calExp
= (x=3629.89, 0=1.17)
= Residual*5

Y=3930 (dx=6.2e-02, do=7.0e-02)

3620 3630 3640

pfsArm
| ™ (x=3631.50, 0=1.12)

calExp

(x=3631.56, 0=1.19)
e Residual*5
== Trace

3620 3630 3640
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Y=245 (dx=-3.2e-01, do=1.7e-01)

f=72, X=3585.9

Y=491 (dx=-1.5e-01, do=8.7e-03)

pfsArm
= (x=3590.41, 0=1.15)

calExp
= (x=3590.09, 0=1.32)

e Residual*5

pfsArm
| ™ (x=3588.62,0=117)

1 calExp
= (x=3588.47, 0=1.18)

e Residual*5

Y=736 (dx=-1.0e-01, do=4.0e-02)

pfsArm
| ™ (x=3587.25 0=115)
1 calExp

= (x=3587.14, 0=1.19)
— Residual*s
== Trace

Y=982 (dx=-6.1e-02, do=3.9e-02)

pfsArm
1 = (x=3586.15, 0=1.15)

1 calExp
= (x=3586.09, 0=1.19)

e Residual*5

Y=1473 (dx=3.0e-02, do=-4.3e-03)

e Residual*5
= Trace

e
I pfsArm I fsArm
1 = (x=358527, 0=1.15) . | = (x=3584.57,0=1.16)
1 calExp 1 calExp
= (x=3585.24, 0=1.18) = (x=3584.60, 0=1.15)

e Residual*5
= Trace

Y=1719 (dx=4.7e-02, do=1.7e-02)

Y=2210 (dx=4.2e-02, do=1.3e-02)

1
Y=2456 (dx=6.1e-02, do=7.5e-03)

I pfsArm
1 = (x=3584.07, 0=1.13)
1 calExp

= (x=3584.12, 0=1.15)

e Residual*5
= Trace

T
1

. I pfsArm pfsArm
| = (x=3583.44,0=115) i | ™ (x=3583.39,0=1.14)

1 calExp 1 calExp
= (x=3583.45, 0=1.15)

(x=3583.49, 0=1.16)
e Residual*5
w— Trace

e Residual*5
= Trace

Y=2702 (dx=5.7e-02, do=-1.1e-02)

Y=3193 (dx=6.5e-02, do=-2.9e-02)

Y=3439 (dx=3.3e-02, do=-2.7e-02)

I pfsArm
| ™ (x=3583.52,0=1.15)
1 calExp

= (x=3583.57, 0=1.14)

e Residual*s
== Trace

pfsArm
= (x=3584.43, 0=1.14) .

calExp
= (x=3584.49, 0=1.11)
= Residual*5
= Trace

pfsArm
| = (x=358525 0=113)

| calExp

(x=3585.28, 0=1.10)
e Residual*5
= Trace

Y=3684 (dx=1.1e-02, do=-3.8e-02)

pfsArm
| = (x=3586.37, 0=1.14)

| calExp

= (x=3586.38, 0=1.10)
e Residual*s

= Trace

3570 3580 3590 3600 3

570 3580 3590

3600 3570

3590 3600

3580

Y=1965 (dx=4.1e-02, do=1.4e-02)

pfsArm
| ™ (x=3583.66, 0=1.16)

1 calExp

= (x=3583.70, 0=1.17)
e Residual*5
== Trace

1

Y=2947 (dx=5.1e-02, do=-2.2e-02)
I pfsArm
| ™ (x=358382 0=114)
I r— (?‘:?5?83.87, 0=1.12)

e Residual*5
== Trace

Y=3930 (dx=6.3e-02, do=3.8e-02)
T pfsArm
| ™ x=3587.84,0=114)
I — ffLE;;87.90, 0=1.17)

e Residual*5
== Trace
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Y=245 (dx=7.7e-01, do=-2.4e-01)

f=189, X=2862.0

Y=491 (dx=2.3e-02, do=-1.4e-01)

Y=736 (dx=-5.5e-02, do=1.4e-01)

Y=982 (dx=6.0e-02, do=-3.0e-02)

pfsArm
= (x=2865.79, 0=1.18)

calExp
= (x=2866.56, 0=0.94)
— Residual*s

= Trace -[

pfsArm
= (x=2864.90, 0=1.13) 1

calExp
= (x=2864.93, 0=0.99)

e Residual*s
= Trace

pfsArm pfsArm
1 = (x=2864.11, 0=1.11) 1 = (x=2863.35, 0=1.11)
calExp 1 calExp
= (x=2864.06, 0=1.25)

e Residual*5

= (x=2863.40, 0=1.08)
m— Residual*5
== Trace

Y=1228 (dx=6.2e-03, do=9.7e-02)

1
Y=1473 (dx=1.4e-01, do=6.4e-02)

Y=1719 (dx=6.9e-02, do=2.9e-02)

Y=1965 (dx=1.6e-01, do=7.8e-02)

I pfsArm I pfsArm
| = x=2862.68,0=1.11) 1 = (x=2862.14, 0=1.10)
1 calExp 1 calExp

— (x=2862.68, 0=1.21) = (x=2862.28, 0=1.17)

e Residual*5
= Trace

e Residual*5
= Trace

I pfsArm
| ™ (x=2861.60,0=1.10)
1 calExp

= (x=2861.67, 0=1.13)

e Residual*5
= Trace

I pfsArm
1 = (x=2861.18, 0=1.10)
1 calExp

= (x=2861.34, 0=1.17)

e Residual*5

I = Trace
1

Y=2210 (dx=9.7e-02, do=2.9e-02)

Y=2456 (dx=8.8e-02, do=6.6e-02)

Y=2702 (dx=1.6e-01, do=1.0e-02)

Y=2947 (dx=1.2e-01, do=-1.7e-02)

T pfsArm pfsArm
| ™ (x=2860.76, 0=1.10) | ™ (x=2860.47,0=1.08)
1 calExp 1 calExp

= (x=2860.86, 0=1.13) = (x=2860.56, 0=1.15)

e Residual*5
w— Trace

e Residual*5

pfsArm
| ™ (x=2860.26, 0=1.08)

1 calExp
= (x=2860.43, 0=1.09)

e Residual*s
== Trace

pfsArm

1 = (x=2860.16, 0=1.08)
1 calExp

= (x=2860.28, 0=1.07)

e Residual*5

Y=3193 (dx=9.1e-02, do=-2.5e-02)

Y=3439 (dx=9.8e-02, do=-1.2e-02)

Y=3684 (dx=9.5¢-02, do=-1.5e-02)

Y=3930 (dx=1.7e-01, do=-7.0e-03)

T pfsArm
1 = (x=2860.14, 0=1.08)

calExp

(x=2860.23, 0=1.06)
e Residual*5
| Trace

pfsArm
| ™ (x=2860.23,0=1.08)

calExp

(x=2860.32, 0=1.06)
e Residual*5
= Trace

T
1

pfsArm
| ™ (x=2860.43, 0=1.07)

| calExp

= (x=2860.52, 0=1.06)
e Residual*s

= Trace

T pfsArm
I ™ (x=2860.79, 0=1.09)

calExp

(x=2860.95, 0=1.08)
e Residual*5
== Trace
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Y=245 (dx=-1.3e-01, do=2.2e-01)

f=195, X=2824.9

Y=491 (dx=8.6e-02, do=-4.9e-02)

Y=736 (dx=4.8e-02, do=3.0e-02)

Y=982 (dx=7.3e-02, do=4.0e-02)

pfsArm
1 = (x=2827.10, 0=1.10)
1 calExp

= (x=2827.15, 0=1.13)
e Residual*5

T pfsArm
| ™ (x=2826.35,0=110)

calExp
= (x=2826.42, 0=1.14)

e Residual*5
== Trace

Y=1719 (dx=5.6e-02, do=8.7e-03)

'Y=1965 (dx=8.7e-02, do=4.6e-02)

pfsArm T T pfsArm
— (x=2828.79, 0=1.09) 1 | = (x=2827.88,0=1.11)
calExp 1 calExp
= (x=2828.66, 0=1.32) — (x=2827.97, 0=1.06)
s Residual*s m— Residual*s
= Trace == Trace
|
1
1
T 1 U T T T T
Y=1228 (dx=4.8e-02, do=2.3e-02) Y=1473 (dx=1.0e-01, do=-3.5e-02)
I pfsArm I pfsArm
| ™ (x=2825.68, 0=1.10) 1 = (x=2825.15, 0=1.09)
1 calExp 1 calExp
— (x=2825.73, 0=1.13) = (x=2825.25, 0=1.05)

e Residual*5
= Trace

e Residual*5
= Trace

I pfsArm
| ™ (x=2824.61, 0=1.09)
1 calExp

= (x=2824.67, 0=1.10)

e Residual*5
= Trace

I pfsArm
1 = (x=2824.19, 0=1.08)
1 calExp

— (x=2824.27,0=1.12)

e Residual*5
= Trace

Y=2456 (dx=1.2e-01, do=2.9e-02)

Y=2702 (dx=9.3e-02, do=4.2e-03)

Y=2947 (dx=1.3e-01, do=5.5e-03)

1

Y=2210 (dx=1.4e-01, do=5.4e-02)
| FxfiAzrsmzs.m, 0=1.10)
1 calExp

m—(x=2823.90, 0=1.15)
e Residual*5
w— Trace

pfsArm

| = (x=2823.47, 0=1.07)
1 calExp

m—(x=2823.58, 0=1.10)

e Residual*5
= Trace

pfsArm

1 = (x=2823.25, 0=1.07)
1 calExp

m—(x=2823.34, 0=1.07)

e Residual*s
== Trace

pfsArm

1 = (x=2823.11, 0=1.07)
1 calExp

m—(x=2823.24, 0=1.08)

e Residual*5
== Trace

Y=3193 (dx=1.0e-01, do=-9.9e-03)

Y=3439 (dx=5.5e-02, do=2.5e-02)

Y=3684 (dx=1.2e-01, do=1.3e-02)

Y=3930 (dx=4.2e-02, do=5.6e-03)

pfsArm
1 = (x=2823.08, 0=1.07)

calExp

(x=2823.18, 0=1.06)
e Residual*5
| Trace

T
1

T pfsArm
1 = (x=2823.13, 0=1.07)

| calExp

(x=2823.19, 0=1.09)
e Residual*5
= Trace

pfsArm
| ™ (x=2823.30, 0=1.06)

calExp
= (x=2823.42, 0=1.07)
= Residual*5
- Trace

pfsArm
| = (x=2823.62, 0=1.07)

calExp

(x=2823.66, 0=1.08)
e Residual*5
== Trace

2810 2820 2830

2810 2820 2830

2810 2820 2830

2810 2820 2830
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Y=245 (dx=6.8e-02, do=5.0e-02)

f=216, X=2695.4

Y=491 (dx=1.1e-01, do=-5.4e-03)

pfsArm
| ™ (x=269927,0=113)

calExp
= (x=2699.33, 0=1.18)
e Residual*s
= Trace

pfsArm
= (x=2698.45, 0=1.14)

calExp
= (x=2698.55, 0=1.13)
e Residual*5
== Trace

Y=736 (dx=1.4e-01, do=-9.3e-02)

Y=1228 (dx=5.7e-02, do=3.6e-03)

Y=1473 (dx=6.4e-02, do=-2.0e-02)

pfsArm
| ™ (x=2697.65 0=115)

calExp
= (x=2697.80, 0=1.06)
m— Residual*s
== Trace

Y=982 (dx=1.4e-01, do=-2.5e-02)

Y=1719 (dx=9.2e-02, do=1.4e-03)

pfsArm
= (x=2697.01, 0=1.12)
calExp
= (x=2697.15, 0=1.09)
— Residual*s
== Trace

pfsArm
(x=2696.36, 0=1.13)

calExp
— (x=2696.41, 0=1.13)
= Residual*5

T fSArm
| ™ (x=269575 0=115)

calExp
= (x=2695.82, 0=1.13)
= Residual*5

= Trace

1
Y=2456 (dx=1.3e-01, do=-9.2e-03)

pfsArm
| ™ (x=269529,0=1.11)

1 calExp
= (x=2695.38, 0=1.11)

= Residual*5

== Trace

Y=1965 (dx=8.2e-02, do=3.1e-02)

T pfsArm

| ™ (x=2694.39, 0=1.11)
calExp

= (x=2694.53, 0=1.12)

= Residual*5

- Trace

pfsArm
1 = (x=2694.06, 0=1.10)

calExp
= (x=2694.19, 0=1.09)

e Residual*5
= Trace

T

pfsArm
| = (x=2694.77,0=1.14)

calExp
— (x=2694.86, 0=1.17)
e Residual*5

Y=3439 (dx=9.1e-02, d0=5.9e-04)

1

Y=2702 (dx=1.1e-01, do=1.4e-02)
I pfsArm
| =™ (x=2693.72,0=1.12)

calExp
= (x=2693.83, 0=1.13)
e Residual*s

w Trace

Y=2947 (dx=1.1e-01, do=-1.5e-02)

Y=3684 (dx=1.2e-01, do=-1.4e-02)

pfsArm
| ™ (x=2693.53,0=1.10)

calExp
= (x=2693.64, 0=1.09)
e Residual*5

- Trace

pfsArm
= (x=2693.41, 0=1.10)

calExp

(x=2693.50, 0=1.07)
e Residual*5
| Trace

I.I

pfsArm
| ™ (x=2693.37, 0=1.09)

| calExp

= (x=2693.46, 0=1.09)
= Residual*5
- Trace

pfsArm
| ™ (x=2693.42, 0=1.10)

calExp
= (x=2693.53, 0=1.08)
e Residual*s
= Trace

2680 2690 2700

2680 2690 2700

Y=3930 (dx=1.0e-01, do=3.0e-03)

2680 2690 2700

pfsArm
| ™ (x=2693.58, 0=1.10)

| calExp

(x=2693.68, 0=1.10)
e Residual*5
== Trace

2680 2690 2700
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Y=245 (dx=3.0e-01, do=-8.0e-02)

f=218, X=2683.1

Y=491 (dx=7.0e-03, do=-4.8e-03)

pfsArm
= (x=2687.01, 0=1.11)

calExp
= (x=2687.31, 0=1.03)

w— Residual*s
== Trace

r ——

pfsArm T

= (x=2686.19, 0=1.11) 1
calExp

= (x=2686.20, 0=1.11)

= Residual*5

= Trace

Y=736 (dx=5.7e-02, do=6.6e-02)

pfsArm T
= (x=2685.41, 0=1.11) 1
calExp 1

= (x=2685.47, 0=1.18)
m— Residual*s
== Trace

Y=982 (dx=1.9e-03, do=2.3e-02)

1
Y=1228 (dx=5.5e-02, do=1.9e-02) Y=1473 (dx=1.1e-01, do=8.0e-03)
pfsArm I pfsArm I
= (x=2684.11, 0=1.10) 1 = (x=2683.52, 0=1.09) 1
— calExp 1 — calExp 1
(x=2684.16, 0=1.12) (x=2683.63, 0=1.10)

= Residual*5
= Trace

= Residual*5
= Trace

Y=1719 (dx=1.1e-01, do=-2.3e-02)

pfsArm T
= (x=2684.69, 0=1.10) 1
calExp 1

= (x=2684.69, 0=1.12)

7| = Residual*s

== Trace

pfsArm
= (x=2683.03, 0=1.10) 1

calExp
= (x=2683.14, 0=1.07)
= Residual*5

== Trace

1
Y=2210 (dx=9.7e-02, do=1.6e-02) Y=2456 (dx=1.5e-01, do=2.3e-02)
pfsArm I pfsArm I
= (x=2682.14, 0=1.09) 1 = (x=2681.74, 0=1.08) 1
— calExp 1 — calExp 1
(x=2682.23, 0=1.10) (x=2681.88, 0=1.10)

= Residual*5
w— Trace

_| == Trace

e Residual*5

Y=2702 (dx=1.1e-01, do=2.7e-03)

1
Y=1965 (dx=8.8e-02, do=4.2e-02)
pfsArm I
= (x=2682.53, 0=1.08) 1
 calExp 1
(x=2682.62, 0=1.12)

e Residual*5
= Trace

Y=3193 (dx=7.8e-02, do=-2.9e-02)

Y=3439 (dx=1.1e-01, do=-4.3e-02)

pfsArm I
= (x=2681.46, 0=1.07) 1
calExp 1

m—(x=2681.58, 0=1.07)
e Residual*5
= Trace

Y=2947 (dx=1.1e-01, do=3.2e-04)

pfsArm T
= (x=2681.13, 0=1.07) 1

calExp

(x=2681.21, 0=1.04)
= Residual*5
_| = Trace

T
1

pfsArm
= (x=2681.08, 0=1.08) 1

calExp

(x=2681.19, 0=1.03)
e Residual*5
| Trace

T
1

Y=3684 (dx=8.0e-02, do=-2.1e-02)

pfsArm I
= (x=268126, 0=1.07) 1

calExp 1
= (x=2681.37, 0=1.07)

e Residual*5
= Trace

| == Residual*5

2670 2680 2690

2670 2680 2690

pfsArm T
= (x=2681.12, 0=1.08) 1

calExp |
= (x=2681.20, 0=1.05)

== Trace

Y=3930 (dx=1.0e-01, do=2.7e-03)

2670 2680 2690

pfsArm T
= (x=268127, 0=1.07) 1

calExp |
= (x=2681.37, 0=1.07)

e Residual*5
= Trace

2670 2680 2690
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Y=245 (dx=5.5e-01, do=-1.4e-01)

f=567, X=605.1

Y=491 (dx=1.9e-01, do=-4.7e-02)

Y=736 (dx=1.1e-01, do=-1.7e-02)

pfsArm
= (x=604.25, 0=1.12)

calExp
= (x=604.80, 0=0.97)
m— Residual*5

== Trace

oo

pfsArm
1 = (x=605.46, 0=1.12)

calExp
= (x=605.64, 0=1.08)
e Residual*s
w | Trace

T pfsArm
1 = (x=606.28, 0=1.12)

1 calExp
= (x=606.39, 0=1.10)

e Residual*s

Y=982 (dx=5.6e-02, do=2.0e-02)

T pfsArm
1 = (x=606.74, 0=1.16)

1 calExp
= (x=606.79, 0=1.18)

e Residual*5

Y=1228 (dx=7.9e-02, do=2.2e-03)

1
Y=1473 (dx=2.8e-02, do=-4.5€-02)

Y=1719 (dx=5.3e-03, do=2.3e-02)

I pfsArm I pfsArm
1 = (x=607.14, 0=1.12) 1 = (x=607.30, 0=1.12)
1 calExp 1 calExp

= (x=607.22, 0=1.12)
e Residual*5

= (x=607.33, 0=1.07)
= Residual*5
= Trace

I pfsArm
1 = (x=607.33, 0=1.12)
1 calExp

= (x=607.34, 0=1.14)

e Residual*5

Y=1965 (dx=-1.5e-02, do=6.0e-03)

Y=2702 (dx=-8.5e-02, do=2.5e-02)

I pfsArm
1 = (x=607.24, 0=1.12)
1 calExp

= (x=607.22, 0=1.13)

e Residual*5

pfsArm I pfsArm
1 = (x=606.92, 0=120) 1 = (x=606.57, 0=1.13)
1 calExp 1 calExp
= (x=606.86, 0=1.23) = (x=606.54, 0=1.16)

e Residual*5

= Residual*5
w— Trace

I pfsArm
1 = (x=606.06, 0=1.12)
1 calExp

m—(x=605.98, 0=1.15)
= Residual*5
- Trace

Y=3684 (dx=-4.1e-02, do=3.8e-02)

1

Y=2947 (dx=-6.3e-02, do=8.8e-03)
T
1 = F:iAﬁr(;“S.31,0=1.1ZD
I r— ((:LE;(?S.ZS, 0=1.13)

e Residual*5
== Trace

1
Y=3193 (dx=-3.4e-02, do=5.0e-02) Y=3439 (dx=-1.5e-02, do=3.8e-02)
T pfsArm T pfsArm
1 = (x=604.38, 0=1.13) 1 = (x=603.23, 0=1.12)
| = ff‘:EgopLs 34, 0=1.18) | — fffg& 22, 0=1.16)

e Residual*5
= Trace

e Residual*5
= Trace

pfsArm
1 = (x=601.74, 0=1.17)
| calExp
= (x=601.70, 0=1.21)

e Residual*5
w— | Trace

1
Y=3930 (dx=-5.4e-02, do=4.1e-02)

pfsArm

| = (x=599.91, 0=122)
calExp

= (x=599.85, 0=1.26)

e Residual*5

= Trace

590 600 610 620

590 600 610
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Y=245 (dx=4.7e-01, do=1.3e-01)

f=577, X=543.2

Y=491 (dx=1.3e-01, do=5.0e-02)

== Trace

T pfsArm T pfsArm
= (x=542.20, 0=1.10) 1 = (x=543.51, 0=1.10)
calExp 1 calExp
= (x=542.67, 0=1.23) = (x=543.63, 0=1.15)
m—_Residual*5 s Residual*s

= Trace

Y=736 (dx=4.7e-02, do=2.9e-02)

Y=1228 (dx=3.2e-02, do=-1.0e-03)

Y=1473 (dx=-1.2e-02, do=-2.2e-02)

= (x=545.34, 0=1.10)
e Residual*5
== Trace

I pfsArm I pfsArm
1 = (x=545.31, 0=1.10) 1 = (x=545.49, 0=1.10)
1 calExp 1 calExp

T = (x=545.48, 0=1.08)

e Residual*5
= Trace

1 i Trace

Y=2210 (dx=-4.0e-02, do=2.0e-02)

Y=2456 (dx=-3.6e-02, do=7.9e-03)

(x=545.15, 0=1.12)
e Residual*5
= Trace

pfsArm pfsArm

1 = (x=545.19, 0=1.10) 1 = (x=544.75, 0=1.10)
1 calExp N calExp

- (x=544.71, 0=1.11)

| =gh

e Residual*5
= Trace

T pfsArm

- 1 = (x=544.19, 0=1.10)
1 calExp

= (x=544.13, 0=1.12)

Y=3193 (dx=-2.1e-02, do=2.1e-02)

Y=3439 (dx=-1.9e-02, do=3.8e-02)

e Residual*5
= Trace

_ T pfsArm T T pfsArm
1 = (x=542.42, 0=1.11) 1 = (x=541.19, 0=1.11)

| calExp | calExp
= (x=542.39, 0=1.13) = (x=541.17, 0=1.14)

= Residual*5
w— Trace

-1 = Trace

T pfsArm
1 = (x=544.39, 0=1.10)
1 calExp

= (x=544.43, 0=1.13)

e Residual*s

= Trace

Y=982 (dx=1.3e-01, do=4.3e-03)

T pfsArm
1 = (x=544.96, 0=1.09)
1 calExp

= (x=545.09, 0=1.10)
m— Residual*s
== Trace

Y=1719 (dx=-4.3e-02, do=-6.8e-03)

Y=1965 (dx=-1.3e-02, do=2.6e-02)

I pfsArm
1 = (x=545.53, 0=1.10)

1 calExp
= (x=545.48, 0=1.09)

e Residual*5

Y=2702 (dx=-5.1e-02, do=1.3e-02)

= Residual*5
| Trace

1

Y=3684 (dx=-2.0e-02, do=3.4e-02)
T
1 = fxfiAsTg.s‘a, 0=1.11)
| - (cxalesxsg.az,azl.w

me Residual*5

- == Trace

pfsArm
1 = (x=545.43, 0=1.10)
1 calExp

= (x=545.42, 0=1.12)
= Residual*5
== Trace

1
Y=2947 (dx=-5.1e-02, do=-7.3e-03)

I pfsArm

1 = (x=543.40, 0=1.10)

1 calExp
m—(x=543.35, 0=1.10)

e Residual*5
== Trace

Y=3930 (dx=-6.0e-02, do=8.2e-02)

pfsArm
| ™ (x=537.72,0=111)

| calExp
= (x=537.66, 0=1.19)
= Residual*5

530 540 550

530 540 550

530 540 550
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Y=245 (dx=4.6e-01, do=1.6e-01)

f=609, X=344.6

Y=491 (dx=1.3e-01, do=1.4e-01)

= (x=343.63, 0=1.28)
m— Residual*5

pfsArm pfsArm
= (x=343.17, 0=1.13) 1 = (x=344.73, 0=1.18)
calExp 1 calExp

= (x=344.85, 0=1.32)
e Residual*s
w | Trace

Y=1228 (dx=1.4e-01, do=-1.2e-02)

Y=1473 (dx=3.8e-02, do=-3.5e-02)

= (x=347.28, 0=1.10)
e Residual*5
== Trace

I pfsArm I pfsArm
1 = (x=347.14, 0=1.11) 1 = (x=347.38, 0=1.12)
1 calExp 1 calExp

= (x=347.41, 0=1.08)
= Residual*5
= Trace

Y=2210 (dx=8.3e-03, do=1.5e-02)

e Residual*5
= Trace

pfsArm pfsArm
1 = (x=347.04, 0=1.10) 1 = (x=346.52, 0=1.12)
calExp 1 calExp
m—(x=347.05, 0=1.12) m—(x=346.52, 0=1.13)

= Residual*5
w— Trace

e Residual*5
= Trace

1 1
Y=3193 (dx=-4.7e-02, do=-2.5e-03) Y=3439 (dx=1.7e-02, do=4.4e-03)
pfsArm T pfsArm
| ™ (x=343.67,0=1.14) 1 = (x=34221, 0=1.11)
I = rf‘:E;z% 63, 0=1.14) 1 — ff‘:E;fz 22, 0=1.12)

e Residual*5

330 340 350

330 340 350

Y=736 (dx=6.1e-02, do=1.4e-02)

Y=982 (dx=1.7e-02, do=5.5e-02)

pfsArm
1 = (x=345.94, 0=1.11)
1 calExp

- = (x=346.00, 0=1.12)

e Residual*s

T pfsArm
| ™ (x=346.61,0=116)
1 calExp

= (x=346.63, 0=121)
m— Residual*s
== Trace

Y=1719 (dx=-4.9e-03, do=-3.0e-02)

Y=1965 (dx=2.0e-02, do=1.5e-02)

I pfsArm
1 = (x=347.43,0=1.12)
1 calExp

- = (x=347.43, 0=1.09)

e Residual*5

T pfsArm
1 = (x=347.32,0=1.11)
1 calExp

= (x=347.34,0=1.13)

e Residual*5
= Trace

Y=2702 (dx=-6.4e-03, do=4.5e-03)

Y=2947 (dx=-6.4e-02, do=3.2€-03)

. T pfsArm
1 = (x=345.77, 0=1.17)
1 calEx

m—(x=345.76, 0=1.18)
= Residual*5
w— Trace

pfsArm

| ™ (x=344383,0=118)
1 calExp

m—(x=344.77, 0=1.18)

e Residual*5

Y=3930 (dx=1.3e-02, do=3.9e-02)

1
Y=3684 (dx=-1.4e-02, do=4.6e-02)
-1 T
1 = Fxfig%.az,aqw
| - (cxaLE;fo.n, 0=1.16)

me Residual*5

T pfsArm
1 = (x=337.98, 0=1.11)
| calExp

= (x=337.99, 0=1.15)

e Residual*5
= Trace

330 340 350



